EARAROBEEIERT — 2 N— IBISH —F

201856H 130 (k) 5EIFIRI2H

mT';( v Ch (hRIATE) HI7R2% ‘ (X8l /™ ‘ [EmshE  — | & (B) 10000 R
[x&<£] 1 % :800,000  23#&:160,000 @ 3 #&:120,000 @ 4 #:80,000 M . 5 3 :40,000 M
BB mEBR Mk HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
SRS fo2 | AHEE 1:01.3 5-4 3%.7| — 4 | 422 |JIBHA (imE)
1 3| RIVR=TF=Ta 54.0 (=) (-2) ~‘/’7“i~y7"~7;‘/“><>|~ (%)
LTANWNTTFY— BivAx<vUT7X EvJILy RT7—L4
= S$= O jt 2 | REREHA 1:01.4 1-1 37.3| — 3 466 | AIIISH (AtimE)
207l 7| A7 1= >X 54.0 (7E) o |EFTE .
L:7ROXLTEL B:Fav/A7=<4 FIRRE A
Pr o =n 4 2 | BUEREE 1:01.8 1-1 37.7| — 1 48 | BfERA (iEw)
3188 LATL>TF2 b 54.0 2 (+12) = A
RAYA=Tr—RX BRI PIZA> L]
= AR A 2 ; - - MARE (AtiEE)
4011 | TRT—TEI2 R 1'(022)'2 A e ! :iz) e
LY LTAN= b BiNFLT EllP Nt ie]
34— o2 | BERY 1:02.2 1-1 81| — 2 438 | EHERE (dtiEE)
5|55 FAIIa—) 54.0 e oy | 8) Ak
RIART—yF— B:yzAian—v Sk
j £ [ # o2 | Al 1:02.3 7-7 71| — | 5 | 444 | KA (timE)
cpye| /It 54.0 (172) AR = i
LNNVTSY BTUTaH—L HHEBS
N —ps G R :04. - . — EREIESL (AbimE)
7 6| FAMTEIN ' 2 54.0 ! (0;) 2 e %9 o ?f) MEEE .
L:d—IRAaqfO— B:4TINyE— UMNVIN=T7—L
. 4 2 | BHIEE - - - - - — |EfEm (GtEE)
*x 4| FHF—XO> 54.0 (BGE) (—) |BEE -
L:TH IR B XA LA T 2O J—ZH—F>
® I —F—@EBIERL
13—7—
23— —
J=zr= (5,7,8),6,(1,3),2
41—+ — (5,7,8),(1,3),6,2
[ F/N=5
B OB 3 1,220 714K 3-7 470M B = 3-7 1,860 &R 3-7-8 680M
% B 3 420 3-8 220 B E Sl 7,660 K31 3-7-8 12,860M
7 220M 7-8 210

ABICOVWTRDTEEERROODE. TR LIV,




